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Set Id : 62325_18 BATCH! D.ELED Odia 09NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

Aragorn knelt beside him. Boromir opened his eyes and strove to speak. At last slow words came.
'| tried to take the Ring from Frodo,' he said. 'l am sorry. | have paid.' His glance strayed to his
fallen enemies; twenty at least lay there. "They have gone: the Halflings: the Orcs have taken them.
| think they are not dead. Orcs bound them.' He paused and his eyes closed wearily. After a
moment he spoke again.

'Farewell, Aragorn! Go to Minas Tirith and save my people! | have failed.'

'No!" said Aragorn, taking his hand and kissing his brow. "You have conquered. Few have gained
such a victory. Be at peace! Minas Tirith shall not fall!'

1) Who was dying?

A) Aragorn
B) Frodo
C) Boromir
D) Orcs

2) Who was given the responsibility to save the people?

A) Aragorn
B) Frodo

C) Boromir
D) Halflings

3) In the discussion, who was alive?

A) The Orcs

B) The Halflings
C) The Frodo
D) The Boromir
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4) What did Aragorn promise Boromir?

A) To become the king

B) To help Boromir's family
C) To conquer Minas Tirith
D) To rescue Minas Tirith

5) Approximately how many enemies had fallen?

A) Ten

B) Twenty
C) Thirty
D) Forty

6) Fill in the blank with the correct option:

| that the drivers jumping red lights are

heavily nowadays.
A) find, find

B) find, fined

C) fined, fined

D) fined, find

7) Which of the following alternatives explains the phrasal verb "Glance off "?

A) to go far from the madding crowd

B) to touch lightly and move away from it in a different direction
C) to go near someone who is in distress and pain
D) to reach the unreachable

8) Fill in the blank with correct prefix or suffix:

We can't stand his cruel to animals

A) ism
B) ty
C) dom
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D) ary

9) Which of the following words is correctly spelt?

A) nesescarily
B) necesarily

C) necessarily
D) nescesarily

10) The phrase "Ferret out something" means

A) to discard something from your life

B) to distribute money among the poor people

C) to discover something by searching thoroughly or asking a lot of questions
D) to reaffirm something which has already been established again and again
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following gases is associated with Bhopal Gas Tragedy that occured in the year
19847

A) Carbon monoxide
B) Ethyl mercaptan
C) Phenyl cyanide
D) Methyl isocyanate

11) ecry adese adial saAIR GiIq €I6eE Ade ﬁqﬁa@ QNI NG 6966 @V ?

A) FIGR AEAIFRE

B) Qgim aeIaeq

C) sréa due

D) FaIaq AREARJUSIE,

12) Which of the following date was our Constitution signed on?

A) 26-Nov-49
B) 24-Jan-50
C) 26-Jan-50
D) 24-Nov-49

12) QEINYD 696 CIALER 2le AUFER PSS 62! ?

A) 26-60¢Q-49
B) 24-qig2I1-50
C) 26-qiIqaIQ1-50
D) 24-q60¢@-49

13) The oldest educational advisory body of the Government of India is -

A) CABE
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B) NEUPA
C) NIE
D) NCERT

13) Qiee aeRies A9gaIer 69R ATEQR QF coed -
A) @wa
B) a@gd

C) waziea
D) Rdazied

14) The Wood's despatch, had sent some substantial recommendations to who among the following?

A) B T McCully

B) Sir Phillip Hartog
C) Lord Dalhousie
D) John Stuart Mill

14) ag 692010, FYAYS FIQ AILIg 38 F12994 gaIfis TOIRZEM ?

A) 2 ¢ MNRgR

B) aiq §5q 216619
C) ¢ cengiad

D) &% 821§ da

15) Children have an extremely flexible capacity to learn multiple languages between the ages of

A) 3-7 years
B) 5-9 years
C) 2-8 years
D) 4-10 years

15) 4@ 999 arIee GRIRIRT NRINE QIS J¢9l e P11 alaId

A) N-9 @
B) 8-¢ @d
C) 9-r ed

D) ¥-¢o @8
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) P, Q, R, S and T are five kids sitting in a circular table. R is sitting to the immediate left of T and
P is sitting between S and T. Who is sitting to the immediate right of P?

A) S
B) T
C)R
D) P

16) P, Q, R, S w& T dI'Q @4 dal 1@ QAU seqnse 2388 | R, T @ gas aic aigea @38 we P, S ver T AIB6Q @G5
I P @ gae eeig algea &9 938 ?

A) S
B)T
C)R
D) P

17) In a certain code language, if the word CORNER is coded as QDMQNB, then how will the word
HONEST be coded in that language?

A) CENROC
B) LABOLG
C) TSENOH
D) SRDMNG

17) 9@ 38a sqie aisise, 98 CORNER s¢ QDMQNB @i9sa saiq 62108, 6669 628 aisisa HONEST 9% @ GaQ 6qIe
@Rl 992

A) CENROC
B) LABOLG
C) TSENOH
D) SRDMNG
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18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If a, b and c are positive integers and (a x b) + ¢ is an odd integer, then is 'a’' an even integer?
I.'c"is an odd integer.

Il. 'b" is an even integer.

A) 1
B) 2
C)3
D) 4

18) QORI 9g9dasa 636 aag :
0. 9@ QA4 | arua RAR c29Ig acas EEE |

ad 994 || 9gdzl anavia ARR caqlg K62a 26T |
a. 96 Y4 | e |l aevg 9eI0 H218e 6669 ANAIR RN 601 IS ALY 266 |

¥. 98 @94 | ve || anvg 9RO FIde 6669 @ QA RAQ 6991 QIR LI G6F |

aé a, b 9e ¢ urige gdis 29T v (@ X b) + ¢ e fua gdis 2ee, 6059 'a’ @8l IR a0 gelis 2se ?
l. 'c' e §a0 Qdie 263 |

II.'b" ve 90 9di= 266 |

A) ¢
B) ¢
c)m
D)®
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19) A racing car travels 36 km North, then it turns left and travels 9 km, then again it turns left and

travels 50 km, then it finally turns left and travels 9 km. What is the position of the racing car with
respect to its initial point?

A) 14 km East
B) 18 km East
C) 14 km South
D) 18 km South

19) e 6eda IQ QAR N Fenifica QG @RI, BIg6a 64 QI ALY 6716 627l 9&° ¢ FERIASR AIQI @Rl, Fla6a Y2l Q& QI
2R 6718 69 da* o FeRIfica QG @A, £886Q 2 QIAG ﬂ_@@| e 2128 ¢ Fsqificn Cigl eal | Y2k giede 8 afe cadar

Fea g6 @4 ?
A) ex §4. g4
B) er &d. g¢
C) ex &6. o8&

D) or &6. o84

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

If one root of a quadratic equation is 2, which is the other non zero integer root?
I. The product of the roots is a square number.

Il. Sum of the roots is less than 5.

A) 1
B) 2
C)3
D) 4

20) FIRGS 999easa 686 q0q :
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0. 9% QY | Qe RAQA a9Ig T62a 26T |
9. 2@ Q! || ¥gdal aaayia AR saqlg Ksaa 26T |
0. 98 QG | ver |l ee9g 910 FaIde 6660 AN QRN 6aa! Al ATUIG 26T |

¥. 96 @8 | e Il eeoq ¥eId F218e 6069 @ AT QAR 6991 Tie UG g6 |

a8 e QAUQ 1Ra8a 61T R 9 26T, 6069 ARYE 7Y f89 geiw IR F¢ 266 ?

l. 9pe QI 6208 e 96 @l |

. gea sQI0ae 8 Q @7 26S |

A) ¢
B) ¢
c)m:
D) ¥

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which of the following says that education given to child must be as per his innate tendencies
and natural capacities?

A) Realism

B) Idealism

C) Materialism

D) Humanism

21) G9R4e AuQ 6996 12 @62 64 daig SAAIRAS d8l SIFa 29786 gRF I gIRGe 086! 2QAIRN 629 ZIFENS 7

A) @180l
B) gl@diai@
C) egsle
D) cleeqie

22) A teacher continuously asks the students about their feelings and whether they are in need of
any support. Which type of strategy is she using to develop a positive environment?

A) Intellectual Engagement

B) Emotional Engagement

C) Behavioral Engagement

D) Cultural Engagement

22) 964 2RUUD FFNGI6 AR VAT AR AURR IS° 6QAFIER 6T19T AR UGS 08 & QI 62 FaA6a VGG ? @
ARAIAR T4 §RI4 AR 69 69Q JRINQ ETHIRILLR 9QaE ?

A) 6918@ caI9QIR

B) Q19ge4 saI9QIR

C) 298190 6QISIQIR

D) argEe Q0o

23) According to the National Curriculum Framework, English has been made compulsory from
A) Class 1
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B) Class 2
C)Class 3
D) Class 5

23) QIe1d AIOIGE QIgI QKA R°AUS1 @ﬂl@ 699 6gaNQ FRILIC] e QARG ?

A) eq 6gal
B) 94 6gan
C) na 6géi
D) g1 6g41

24) The committee under the chairmanship of Dr Zakir Hussain gave which of the following
recommendation for inclusion in the syllabus?

A) Vocational training in syllabus

B) Technology in syllabus

C) Basic handicraft in the syllabus

D) Value education in syllabus

24) G9RYe FIQ 6QE0T 098 KRR 2EART UUVGIER Q02 <fiF aI0igrsa 2egs 629! Oln QUIRE cand ?

A) CIOIRAER MISATR SIRe
B) €IOYR616& 656qI6AIS

C) Qio1@qea 6AiRe 02488
D) Q016 a4 &gl

25) Which of the following is NOT a characteristic feature of Case method of teaching?

A) Lack of partnership between students and teacher as well as among students.
B) Promotes more effective contextual learning and long-term retention.

C) Answers questions not only of “how” but “why.”

D) Involves trust that students will find the answers.

[T

25) 39AYe MRIQ 6906 JALNNR 69A I80R IR 6399y Q6% ?

A) FIQEIQ1 9e* AR I TIGRIQININE FRIER ALRVGIR AR
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B) A& gRIQEIRT $809g I8l 96° QRIS RS 69IAFE F6Q

C) saap ‘408’ 9490 Q00 G4 QIZ, ‘@d8’ gga QOQ & conal

D) 2I2IPIFIEE Y21Q VAR AIRES 12 §g1Aq UILS F6A

26) Which of the following is the best example a problem based approach?

A)
B)
C)

D)

Students keep a bucket under a leaky tap for eight days. Note the amount of water collected.
They make a poster on water conservation.

Students learn about water pollution. They write an essay. Then they answer a quiz. They
organise a similar quiz for a different group.

Students watch a video on pollution. They do an experiment on filtration and distillation. Then
they write about the experiment in their notebooks.

Students worry about the brackish water in their school tap, find the source of the pollution to
the factory next door and complain.

26) FoRde auq 6996 6268 MRS QF6aIsn I8 AESIeF AQIPRE ?

A)

B)

C)

D)

21eaI6e QIS AP SHIY GER 20 GF AR 9K QUG QB | PTG FRQ ARSI QUCRQ 2@ Q23 | 6a066 9 TaTE A6
Q@ 6012 62UE Q93 |

gIerIeR 8F 9084 AR 143 | 6QIER I& JO® 6RSE | 6I'dsa 6Q71I6R IR 94-QQ9! G?IEJ:@Q QA AR T2 | 6AFNEH IR
89 60191 AR ATIL J49-QAQQ AR AUCARE @S |

gIGFIER gausl QU 1@ GEE 663 | 6ACIER TREQAR Ie GAEAAR QUL IR JQIBE RAS | 6I'd6a £AAIEE T HIFIES
JNFE SVAER QD |

2IQFIER 6ACIRS L@ CUITER A9 PRIE F906Q 630, g9ada ag JIYER gl QIedirIq sHRE 8 2@6IE @a3 |

27) The teacher during the process of teaching ensures that she appropriately rewards/praises the
students on the right answer and discourage them or comment when the student gives the wrong
answer. Which of the following might the teacher be applying in this process?

A)
B)
C)
D)

Law of readiness - learner should be ready to learn before the start of teaching
Law of effect - which emphasizes role of reward and punishment
Law of trial and error - which emphasizes role of repetition to remove errors

Law of maturation - learner should be mature enough in terms of content knowledge to
understand what is to be taught

27) da19e 9al an96e 9% Fe 908 60 62 A0R LANEAR FIGAING 2TYS JORUR/TErAl 893 IS° CACHEIER |18 9n KA
Q23 6I60696R 6ARIRG FAIS Fa3 A A3 §aS | FIANYS AUQ 666 JaF 92 gRIEa JeAT FAARS ?
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A) gg6e Gaa - daidh dRIRI AR gIQ JYIg IS 6291 95
B) geIea §af - Q9 geaia I 24a 9fial 2d6a gee 69mealN

C) oom e gda §ae - A9l g8 29IRI AR ‘Eﬁ@l@@a IR 99Q ORI
D) 9f0geia faq - a1 @'« deide ol @89l dle F909g RIe QEQ K628 TAUg 6291 A0E

28) The difference between traditional phonics and whole language approach is '

A) Phonics begins with words and whole language begins with stories

B) Whole language begins with meaning and phonics begins with sound -letter drills
C) Whole language begins with words and phonics begins with sounds
D) Whole language is practice based and phonics is repetition based

28) giasde YIRS 99 T4 QU UG A6R AR 6208

A) 4e1R8Ie 60Q 2AR 29 9 Jal QIS FI2IE1Q 2R 91
B) 24d a8l 2EiQ A1a% 94 9% YRIFEIe AAS-6ASR §AQ AR 2
C) <l Q18I 0Q AR 24 I YIRS Y3FQ AaR 93

D) aud aial 6ead Zeua 2Ge 9@ yR1dRle cead g}?@l@@ AURAGS

29) The NCERT is working on finalising a national curriculum for playschools across the country. It
is likely to be introduced from

A) 2019-20
B) 2018-19
C) 2020-21
D) 2021-22

29) 6Q496Q 2] 69NGER VN IGIRRIAE IR QIR A0IFE JIe KRG U6 RIF FQE | 19l 62 Adsl
OIQ MIG) 62AIQ ARIQR QLG ?

A) 2019-20
B) 2018-19
C) 2020-21
D) 2021-22
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30) A teacher arranges the teaching in the form of dialogues and motivates the students to state
statements that are connected logically and ease understanding. Which of the following techniques

is she using?

A) Brain storming

B) Argumentation

C) Mapping

D) Lecture cum discussion

30) @68 220e RNy PRI AN ARINAT IS° FIBIQININE AFIYER g AATE 08 QeI YIYS VIR PYS 9e°
QE9I6Q A0E 6212 | 62 SRS IREYFR TRIQ 694E NIRIQ GRS ?

A) FIra age

B) 28

C) quier

D) 2RI Q2 2RISR
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) P69 ARIQ 6996 IR AT YF?

A) @
B) @
C)a
D)a

32) 694 29ad6 6F60d@ QNIQ e aIaIg G ?

33) 69191 29T —0I6Q ‘'2QAT’ @ Y1 FAUL?

A) Q@@
B) ziade
C) qaidal
D) aiaqida

34) ‘ac1aqie’ dea Sadeidcarie 980 QI8 |

A) 8919
B) &<
C) agsiien
D) zesie

35) 36419 FRIQ 694 SR ‘AR’ YOUL 62166 6106 6TIRE?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

A) Quiy
B) ey
C) aqiy
D) uquslie

36) ‘ALY - @ IRIQ IR?

A) 6@
B) 6G6ada
C) eqa¢
D) oqeQ

37) ‘0’ i 9210 *QIAIRYS AUATYS 996G |

A) TUQ
B) ToIR
C) 2age
D) o9

38) ‘269ea’ 2 8 KR Q5] S92 |

A) S69216Q 99

B) 6616\ 91276a 6
C) e2q 6QlIS Q&G
D) @641 624

39) ‘66 goea e’ Qfe 28 FQas aa |

A) QLe UG AT @IR
B) 992 99

C) @9 2l9g @ @I
D) agél
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40) ARACIRIOR 64T 6RER NGEQ FRR?

A) 9@
B) 6@
C) oI
D) aig

41) ‘@aq’ aae dadeideqiie 4a0 QIR |

A) Qg

B) aasaais!
C) Q@9

D) eiaaie

42) ‘A8 995 699 JFAUEQ I6HTIQ F68TY TR 62IRE?

A) QA9 g9 621R
B) gee ggaiea

C) o8e gqaisa

D) af G6ge 992I6Q

43) ‘28’ 2dea ‘9@’ goud 62196 G106 aeq AL |

A) fsoa
B) 2674
C) 2%
D) @sea

44) JRITA MGl UG 4RQ — 6QIEE JGT @ IRl 9?

A) Q6894

B) ad

C) GaIcion S6asy
D) o G689l
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45) ‘qie’ see aqIdealue 900 QIS |

A) QR
B) EARIUG
C) a4t

D) @gai@
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) What value of x satisfies the equation 5x + 9 = 3x + 217

A) 4
B) 5
C)6
D) 8

46) X @ 629 IR 5X + 9 = 3x + 21a01aadg AOR @41 ?

A) 4
B) 5
C)6
D)8

47) Tangent PT drawn from a point P to a cirlce of radius 12 cm touches the circle at point T. If the
centre of the circle is O and OP = 20 cm, then what is the length of PT?

A) 14 cm
B) 15 cm
C) 16 cm
D) 12V2 cm

47) 12 6ad ayaie da18 9e 9og P S99 ramindel edad T dgea 94 asa | ad qolmia saga saedg O gever OP = 20
628 6659 ad@ PT o an 6266 6297

A) 14 cad

B) 15 ¢ad

C) 16 sad

D) 122 sad

48) The LCM of two numbers is 72 and their HCF is 12. If one of the numbers is 24, then which is
the other number?
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A) 12
B) 24
C) 36
D) 48

48) 9af THIe AAIg 6208 72 9 6a0Iewa 0dlg 6298 121 98 6015 eyl 24 269, 6069 ARY THIT 6066 ?

A) 12
B) 24
C) 36
D) 48

49) A person invested money in three different investment schemes. Investment of 2 800 at 5% per

annum, % 700 at 6% per annum and ¥ 600 at 5% per annum. What is the total simple interest
accumulated after 3 years?

A) % 313
B) ¥ 336
C) % 343
D) ¥ 356

49) a66 48 F6RIT fg FF6AIT caIFRIEa o7 aneals adaen | 91de 5% ca T 800, @ifie 6% sa T 700 9o @ife 5% ea T
600 5Fsa1a QaIDIRE | N 9F s FFIl CARNIYD GFIIT AQR Yl 6REE 689 ?

A) % 313
B) Z 336
C)Z 343
D) 356

50) If 2x - 5y = 10 and 4x - y = 20, then (x - y) =

A) 3
B) 4
C)5
D) 6

50) 9@ 2x - 5y = 10 9er 4x -y = 20, 6e6@ (X - y¥) =
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A) 3
B) 4
C)5
D)6

51) If the area of a circle increases by 44%, then what is the percentage increase in the radius of the
circle?

A) 44%
B) 20%
C) 24%
D) 16%

51) 9@ 9@ Q00 6[TP ¥¥% Q8 24, 6069 RO MIABECR IR 6260 QF 629 ?

A) 44%
B) 20%
C) 24%
D) 16%

52) The HCF and LCM of two positive numbers are 20 and 8,640 respectively. If one of the numbers
is 320, which is the other number?

A) 320
B) 400
C) 480
D) 540

52) 9@t ge weia aaig 9 aaig aaieen 20 9o 8,640 1 9@ ewigee qug 6q1g 6298 320, 6062 2194 PEMHIG 6966 ?

A) 320
B) 400
C) 480
D) 540

53) A television with a marked price of ¥ 10,000 is sold after two successive discounts of 10% and
5% .What is the selling price of the television?

A) %1000
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B) ¥ 6550
C) X 8500
D) ¥ 8550

53) ¥ 10,000 @de qmy 8a1 e scnges 10% 6 5% 9t qriee A28 96a 98 241 U@ 60RNReRa QA Al 6960 ?

A) % 1000
B) Z 6550
C) % 8500
D) Z 8550

54) If (1+x) : (2+x) = (5x+1): (6x+2), then the positive value of 'x' is

A) 2
B) 3
C)4
D)5

54) a@ (14x) : (2+x) = (5x+1): (Bx+2) 24, 6662 'X' @ URIAR R 6208

A) 2
B) 3
C) 4
D)5

55) The interval (4,6] in set builder form is

A) {x:4<X<6}
B) {x: 4 <X <6}
C){x:4<X<6}
D){x:4=<X=<6}

55) sae Saeq ad (4,6] e iuIe 6008

A) {x:4<X<6}
B) {x: 4 < X <6}
C){x:4<X<6}
D){x:4 <X =6}
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56) Which is the last digit of the following expression?

Expression: 142 + 272 + 312 +.....+ 442

A) 0
B) 1
C)3
D)5

56) qAge 28480 648 2w 6960 ? ARaS: 112 + 272 + 312 +.....+ 4412

A) 0
B) 1
C)3
D)5

57) Square PQRS is drawn by joining the midpoints of the square ABCD. Similarly, square WXYZ is
drawn by joining the midpoints of the square PQRS. If the area of the square ABCD is A, then what
is the sum of the areas of the squares PQRS and WXYZ?

A) Al4
B) A/2
C) 3A/4
D) A

57) ABCD ode ariaggéq caiead @6 PQRS zrae eaniad | ¢aded, PQRS oda audgqéq sawed ad WXYZ zree
@aiae8 | 98 @ ABCDa sagae A 94, 6069 PQRS and WXYZ q G536 69009 6266 6297

A) A/4
B) A/2
C) 3A/4
D) A

58) 5 years ago, the age of Geeta was 3 times the age of her grandson. After 20 years from now,

her age will be twice that of her grandson. What is the ratio of the present ages of Geeta and her
grandson?

A) 10:3
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B) 9:5
C)8:3
D) 7:4

58) 5 «d Q69, dIoIF 904 oIF QIfw fada 3 g4 Al | @6a10Ig 20 9F U6Q, GIF 94d SIF FIFT FUAR QS 629 | TSI I
AOFT QOAIRA AR AFUIC 6760 ?

A) 10:3
B) 9:5
C)8:3
D) 7:4

59) In a group of 840 people, 450 people read Hindi magazines, 300 people read English magazines
and 200 people read both the magazines. Number of people who read neither of these two

magazines is
A) 290

B) 210

C) 180

D) 50

59) 840 sa= saimieq, 450 saie 8a1 agel aed, 300 saie sraiet agql 0ed wer 200 caie aan 0dql e8| N8 Qe adal
F1RIQ 6RIGET URRaRl 6RIRE Pl 62RF

A) 290
B) 210
C) 180
D) 50

60) Which of the following is the possible tens digit of a perfect square whose unit digit is 6?
A)2

B) 4

C)6

D)9

60) Gofge AUQ 6766 IR ACYS FCa AR @4 AR, AIRIA IR T 6 2ee ?
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A) 2
B) 4
C)6
D) 9
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) "Loo" is an example of which type of winds?

A) Local Winds

B) Planetary Winds
C) Permanent Winds
D) Trade Winds

61) “Q” 6208 676 990 J9aa 9@ a9I9e8 ?

A) 9910 998
B) g dee
C) 9@1 aaq
D) «idis4 aee

62) Which among the following options is the most abundant element found in Earth's Crust?

A) Iron

B) Oxygen
C) Carbon
D) Silicon

62) AN FRFYER FRIQ 62QS YR RRET AF0IQ AR FIGIER TR QUINIE AT ?
A) el

B) aqaie

C) qiaq

D) daeq

63) The President of India is the ___ ?

A) Commander in Chief
B) Supreme Commander Of Armed Forces
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C) Head of the Govt.

D) Commander in Chief of the Indian Armed Forces and ceremonial head of the State

63) aieca QIaas c2asd ?

A) 981 ea190
B) 262 Q1291a A6Qie @AI9Q
C) aaeia get

D) RIQRIN d49 QIDRIR 64R1UE G2l QYR AFAFS I

64) The official responsible to look after the imperial household in the administration of Mughal
Empire was known as

A) Chief Qazi

B) Mir Saman

C) Wazir

D) Mir Bakhshi

64) 671I9m QAIFINIQ JEIARERQ AN AAQ I, 62117 QLY JIF ZRIFIAT AULER [EIIG4

A) g QI
B) qiia @i
C) gida

D) qiq @@

65) The intensity level of sound is safe upto the level of?

A) 85 decibel
B) 70 decibel
C) 80 decibel
D) 75 decibel

65) 9aa o126l @ ga adie gade caIRald ?

A) I8 6edea
B) @° cedon
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C)re ceden
D) 2% cedan

66) The underground water, is included in which of the following spheres of the Earth?

A) Biosphere
B) Atmosphere
C) Hydrosphere
D) Exosphere

66) QR R, YA FINYS 6ALYLR FRIY 69RTER USHS?

A) Q61399
B) w6gi@aQ
C) 210601399
D) 1691999

67) Who among the given authority conducts elections of Panchayati Raj institutions?

A) State Government is responsible
B) District Magistrate is responsible
C) State Election Commission

D) Election Commission of India

67) 9@ 29uss rIQ @ TFOINS QIR AQIRR FAISE 963 ?

A) QI9Y AAFIQ A1 23
B) @q FIFERE QA Q23
C) e AR 2lcAe Qe

D) @emgea @740 2 &2l

68) Which of the following countries has the Smallest Constitution?

A) USA
B) Australia
C) Monaco
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D) Switzerland

68) 39746 60998a AuQ 6RATER Yoo AR 28 ?

A) gsqid 2ICARR
B) zieaqa
C) 6qI9I6a!

D) g@aamulg

69) The imaginary line of Zero degrees longitude on the Earth is known as

A) Equator

B) North Pole

C) Prime Meridian
D) South Pole

69) gae1ea 92 g1 QTN @ FER R IRNFER RIS

A) SgQ 65l
B) @@@ sag
C) Qs @9l
D) Q86 661Q

70) Which of the given following books is authored by Mahatma Gandhi?

A) Hind Swaraj

B) Hindu view of life
C) Discovery of India
D) My Truth

70) 39Rge 99agea FkIQ 6RLE A2IFl AINIE QA AYE RS ?

A) @2 QIR

B) 99 @1 2T QIR
C) FARRE AT B2
D) sl g2
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71) The name "Ashoka" is explicitty NOT mentioned in the first Minor Rock Edict of Ashoka's
inscriptions at which of the following places in India?

A) Maski
B) Rajula
C) Gujarra
D) Nittur

71) QI9EQ FIRYE 699 AR CHIRIE RTYFA YA FIRRA O] IFTER "IN QIFl 9L ATER QRS
RAUAR QIG?

A) g
B) qugmi
C) gaa
D) Gga

72) In which Amendment of the Constitution were Forests transferred to the Concurrent List from the
State List?

A) 45th
B) 62nd
C) 76th
D) 42nd

72) QfdIe0 699 TEHRIFER STAYER QAP CIANIQ NARIRNIR SIRRIER YRISTE 62l ?

A) ¥ Q¢
B) »9 @¢
C) 995 o4l
D) x9 @4

73) Which principle among the following options was added to the Directive Principles by the 42nd
Amendment?

A) Equal pay for equal work, for both men and women
B) Participation of workers in the management of industries
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C) Right to work, education and public assistance
D) Securing wage and human conditions of work to workers

73) $9Rge FRegPe F2I60 6RQ 916 ¥ 9 67 TEARIF QIR FERERICI A6 6IS AN

A) 298 Q8 & ARRIT aIQ, QIS U AR AP Qe
B) d J89RrIEa §HanIeea 2raged

C) 9144 @<, F8l 99" SRAUGE LIAIR AUKID

D) ghenes Aga1 Y& aidia FIRde iegl gade adel

74) Read the following statements and choose the CORRECT option.

(i) The imaginary lines of Latitude divide the Earth into various heat zones namely: Torrid, Temperate
and Frigid.

(i) The imaginary lines of Longitude are useful in calculating the time of a place.

A) (i) is TRUE and (i) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ji) is FALSE

74) 3gfge YQAEYLR aeq e A0R Ge8 F8g

(2) agraq @acl 608 gelelg §8q REIU 6aInea §a8 a6 Kell: @8I, SITAIg] Y& TFe

(aQ) Q@ & @8l 6adl 99 YIRa AfH B9 FE9I6R AUSLISH 6212

A) (i) 904 2169 9e° (i) 904 26T
B) (i) 9oy 2166 9&” (i) 29y 260
C) (i) a1aey 2169 9e° (i) AN 26T
D) (i) 21a64 2166 98° (ii) 2AAGY 2166

75) Which act vested the Secretary of State for India with supreme control over the Govt. of India?

A) Morely Minto Reform, 1909



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

B) Govt. of India Act, 1858
C) Pitts India Act, 1784
D) Indian Council Act, 1861

75) Q06 Qagiae A6e ARG AARIT QU6 AENF FARE 694 AUFAC TRIFER 26T ?

A) 67lIER FP6l TR, e o

B) Q186 AQRIQE UNFAA, M8
C) 9% @8 287aq, eory

D) Q18610 0Q8@ AR, 90
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following anodic reaction occurs during rusting of iron?

A) Fe — Fe?* + 2e
B) Fe?* — Fe** +e
C) Oz + 4H* + 4e — 2H20
D) 2H20 — O2 + 4H* + 4e

76) o6 9% 629 ANAER FOAYS 2ERGR ORI FIQ 6996 ATaN ?

A) Fe — Fe?* + 2e
B) Fe?* — Fe’* +e
C) Oz2 + 4H* + 4e — 2H20
D) 2H20 — O2 + 4H* + 4e

77) What will the lines of the graphs called when P vs V curve is drawn keeping temperature
constant?

A) Isobars
B) Isochores
C) Isotherms
D) Isomers

77) ciaqigl 32 agel aie P o1 V' og 2§06 se6a 9ITe 6a61g @6 g2Ide ?

A) giasaleid

B) 21Q6Q169160Q
C) giasaiaia
D) aiesaind

78) During winters, rubbing of hands together generates slight heat this is due to force of

A) friction
B) momentum
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C) motion
D) velocity

78) €16 0G6a , AIYRQ AT 6Q AT GIT FIS §9, 42 Q AR 62

A) Qg
B) a°6a4l
C) a6

D) 6aa

79) A is plant cell without a cell wall is termed.

A) tonoplast
B) apoplast
C) symplast
D) protoplast

79) 6202 IR 69I8 991 S0l 28 61 |

A) 69169154
B) zisaig@
C) daqe
D) sgi6s1g|@

80) Which of the following is a type of insectivorous plants?

A) Rafflesia
B) Cuscuta
C) Sundew
D) Indian pipe

80) dgfde ArQ 6996 6208 @ 91e2ILIQT ade ?

A) Qucremdall
B) 299!
C) a9y
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D) WAL D@D

81) How can the given reaction be driven in the forward direction to produce more of NH3? Given:
Nz + 3Hz + heat — 2NH3

A) High pressure and temperature
B) High pressure and low temperature
C) Low pressure and temperature
D) Low pressure and high temperature

81) Gaiameel gé@al fad NH3 aye ddeadel aiel 2gela desa enldieaide ? @ : N2 + 3Hz + heat — 2NH3

A) 99 G2 9% olaeIg
B) @@ €0 1s* &¢ Sladg)
C) &4 919 e QIaelIgl
D) &9 €@ 9% 29 GlaeIg

82) What will be the order of the slopes for a P vs T curve at different volumes? Given the volume
orders are: V3 > V2 > V1. Consider the slopes as S3, Sz and S1 respectively.

A) S1>82> 83

B) S3 > S2 > S1

C)S1>83>82

D)S1=82=S83

82) a6iq anycsa P aqia T og aiel 6qagées @0 @6 621 ? JO@ ey 26a 62a8: V3 > V2 > V1. 6qog aaigen S3, Saver
S1 a6 Fae 9ag

A) S1>82> 83
B) S3>S2 > 81
C)S1>83>S2
D)S1=52=S3

83) What happens to the potential energy of a motorcycle that accelerates on straight plane and
acquires velocity 3 times of its initial velocity?

A) no change is observed in its potential energy
B) increases twice that of initial potential energy
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C) becomes 3 times that of initial potential energy
D) becomes 9 times that of initial potential energy

83) 6U6GEIER IR 6FITR ARRR , ANREER YR AIG FEQ , 9° 7R AR GRYE A6 A6 |,
696Q @61 91 ?

A) 92Ia 367 9261 6163 ARQRG 99 AT
B) @ia gode g0 9260 9@ 94 98 99
C) vaIa gIofa 965 9962 67 gé 98 94
D) veiq gI0de 969 496 @2 g4 9F 949

84) It is prepared from grain-based ethanol or laboratory-produced acetic acid and then diluted with
water. It is used for pickling and household cleaning. It is

A) Apple Cider Vinegar
B) Balsamic Vinegar
C) White Vinegar

D) Cane Vinegar

84) el ey QAR paleR B MEICRETIR aQlGe 1dFe 136 @ gge ol o'asa aIdea FeIaId | 1@l APl S2E faEa 19 A9
QAT @691 Ale! MeLe 941 19l 6208

A) oA ARLR NEREIR
B) @Iqifie Gsadiq

C) uml Geaeliq

D) 69% Q67419

85) Which of the following intracellular junctions develops when set of six proteins in the plasma
membrane arrange themselves in an elongated donut-like configuration connexon?

A) Plasmodesmata

B) Tight junctions

C) Gap junctions

D) Anchoring junctions
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85) S0Age PEIcARMIa FRAR FIQ 6RAE FREC ©4 6UEERER QYRE 6AEAER 22 6gITR 66 Y@ FARE coIRle A S
QERFRER FRY ARIRAIN ?

A) delsaiegel
B) ¢l8¢ 9dQ
C) cHig 9629
D) AGae FEAQ

86) Name the xerophytic plant which is a root succulent

A) Opuntia

B) Asparagus
C) Begonia
D) Nerium

86) secaiaiate afeq a1 §ag ARl 9@ g QIR

A) 2932
B) zaeql
C) ssairal
D) sa8iad

87) What will be the ratio of densities (di/dz) for a given element forming two different crystalline
structures of fcc (with edge length = 260 pm) and bec (with edge length = 390 pm) lattices?

A) 3.26

B) 5.37

C)2.84

D)6.75

87) fcc a 9ot fig 98@ Faeel (diae 6ady = 260 pm a@6) e bee (uiea @ = 390 pm Q86) AIFIRY 09 die FAULKLS
eaI9le ae agel (d1/d2) @ a9aIe 6960 62 ?

A) 3.26
B) 5.37
C)2.84
D) 6.75

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

88) A pair of yak exerts a force of 180N on its cart. Calculate the work done to carry the cart towards
its destination 20m ahead.

A) 1800J

B) 2400J

C) 3600J

D) 4200J

88) @6@ O71Q1 dif GIFRAAEQ 180N Q@ J6Ad @2 | 20m 9Q6a gl AR A3 JIPFq 18 609Iq
2ILNL1G FIGIQ ARG AT @R |

A) 1800J
B) 2400J
C) 3600J
D) 4200J

89) Which of the following lake zones has phytoplanktons in abundance?

A) Littoral zone

B) Lemnitic zone
C) Benthic zone

D) Profoundal zone

89) Gofige 29 69Ia g 6AF6a 2R TIRETIYRS 9T ?

A) RECIRIR 6RIR
B) 6a9aG@ 69Ie
C) 699 6919

D) 69INerela) 6919

90) The autonomic movement of the matrix of cytoplasm of eukaryotic cells is called

A) endocytosis
B) autolysis

C) exocytosis
D) cyclosis
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90) @eIf6ee 6RI9g90aa ARETIYRN TR Joralde oo Qelalg

A) MEIARECSIAL
B) 26cInadd
C) 1691AIR6c132
D) dReqda
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Question Paper No: 62325 18
Answer Key
1]C 3L |.D 61 | A
21A 32 I'C 62| B
3|B 33|B 63 | B
4D 34|D 64 | B
5|/B 35(D 65| A
6|B 36| C 66 | C
7B 37 |B 67 | C
8| B 38| B 68 | C
91C 39 A 69 | C
10 | C 40 | A 70| A
11| D 41 | D 71 | B
12 [ A 42| C 72| D
13| A 43 | A 73 A
14 | C 44 | C 74 | A
15| C 45| A 75| B
16 | A 46 | C 76 | A
17 | D 47 | C il |G
18 [ D 48 | C 78 | A
19 | C 49 | B 791D
20| C 50| C 80| C
21| C 51|B 81| A
22 (B 52(D 82 | A
23 (A 53|D 83| A
24| C 54| B 84 | C
25 [ A 39 G 85| C
26 | D 56 | A 86 | B
27| B of |8 87| D
28| B 58| C 88 | C
29 | B 591 A 89| B
30| B 60 [ D 9 | D
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